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For this paper you must have: —

¢ a calculator T

e mathematical instruments. E E E i

Instructions
o Use black ink or black bali-point pen. Draw diagrams in pencil.

Answer all questions.

¢ You must answer the questions in the spaces provided. Do not write outside the box around each
page or on blank pages.

Do all rough work in this book. Cross through any work you do not want to be marked.

Information
¢ The marks for questions are shown in brackets.
e The maximum mark for this paper is 80.

* You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

Advice
¢ In all calculations, show clearly how you work out your answer.
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autside the
box

[ Answer all questions in the spaces provided.

e |

|
‘ 1 Circle the cube number. ‘
[1 mark]
|
3 | s\, 9 16 |
| 122 Vil = |
‘ 23 T 2 =2 x2Z :8
2 On a circle, which of these is the longest?
‘ Circle your answer.
e [1 mark]
‘ chord circumference | diameter radius
3 Add-5and-3 -S4+ (-2) = -5 -3 - -§ |
Circle your answer. ‘
‘ [1 mark] |
-8 -2 2 8
. - ‘
€ -3
| -5 |
—q
4 Circle the unit of mass.
e N [1 mark] ‘
| millimetres i' grams | litres degrees

8300/2F
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‘ 5 Write down all the whole numbers between 91 and 120 that have exactly two digits the ‘

same.
| [2 marks] |
c\1 92 9% 9S8 9é& 9- 8@(\0\)\@7.'01‘

by et ek 1eF 1es WA (o) W (D) (o

G OO - \

Answer Oﬁ/ tee, 1ot \lo Ve Uy, s , Ut |

W, 1y, nA |

6 Katy is facing North.
She does a three-quarter turn anti-clockwise.

She then turns 135° clockwise.

What direction is she facing now?

[2 marks]
N
- |
[ &——
1S Tang
|
5 S Fa—" 78 138 ° cuwekibi e

4 o

s 79 . =90+ 48"
.;"/ ' 155
Answer i
< 5 <o UTH eIy ‘
_ Y ) :

Turn over »
8300/2F
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e S - - - box
7 Here is a bank statement with three missing values.
I — = - —T S -
Date Description Credit (£) Debit (£) Balance (£)
| N . o | !l
|
' Starting balance 37.60
13/04/2017 | Salary Q% %+ 2 g . 324.85
14/04/2017 | Gas bill i 50.00 2".‘[_[_t XS
17/04/2017 | Council tax 61.84 213.0 |
— —_— | EE— — _—-— - _— S B ————eeeeees

Complete the bank statement.
[3 marks]

Shmers I24.¥ S —3F.60 = 2&5F-25
3985 —%°9 = 274.%S
2130 |

B300/2F
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8(a)  Simplify 3a+7hb-a+4b ‘
[2 marks]

= 3o\-o\+:)—\o~l-tl> |
Answer ZO\ al l \ Lb ‘
8 (b) Expand .4(2d +1\§'>)
[2 marks] |
|

Lxld -+ LxS

— K +20 |
Answer %o\ + 20

Lotk uve ¥ ' e ewrivey e £ R CTN

8 (c) Factorise 15x + 18y
IS wAYD \& [1 mark]

— \&ax>L+ 1EXxY oF
IxB X2 Dl = Z(Sx;«;-&—éxtj)

Answer S (5 X+ 6 5)

Turn over for the next question

Turn over »
8300/2F



Jack and Liam each get the same pocket money.

Jack spends 75% of his.
He has £2 left.

Liam spends 40% of his.

How much does Liam have left?

[4 marks]

Jncew 007 — FS7 waver 2874 =£2_

So :}-\Qc‘x\ WAUS T HAVE Wao S O x ﬁ?"‘;é%

bawy seenss Lol ok ,{Q‘%'»OC_,)
\o/. = 1L oo +\o Jo-go
Lol = L x 0-80 =,{03°ZD
1% - £3-20 ={L.%0

Answer £ L‘} ¢ % D

Do not write
outside the
box

=\lbo/
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10

Draw two straight lines inside the rectangle to split it into

1 trapezium
and
2 right-angled triangles.

Practise on this diagram.

Put your answer on this diagram.

Turn over for the next question

Do not write
outside the
box

[2 marks]

Turn over »
8300/2F



1

Jo sold 132 mugs.
One quarter of the mugs were small.

The rest were large.

Jo made a profit of £2.45 on each small mug.
She made twice as much profit on each large mug.

Work out her total profit.
SMBLE ™MueS o

132 4 = 33
Larwy = 132 -32 = 99

Prve T oo Sminee Mo+ + 243

Paoreyvv ove BAU-E MU %l-l-;S'xZ :2_L\fq®

[6 marks]

ToTwuw OasFis e )

£2.u5 x32 + tL:q0x 99y
TS+ LEs.o
S65:-98

N

/

Answer £ St ng

Do not write
ouiside the
box

8300/2F



12

13

14

9 Do not write
outside the
box

Write down the integer values of xwhere 1< x<7

[2 marks] ‘
2T ? \/ 2, 2,4 .S/ & DC<7-..$‘o Ao
Answer V2 3 L(/ S, b
Increase 400 by 37% ‘
[2 marks]

3:}-‘/. o~ Loo = oo “loox13F = lufk \

Imennx t oo+ Wby = S4&

OR/y |
LOO x 1+3F = Su¢g

. |
Answer - L{ g |

What is the maximum possible order of rotational symmetry of a quadrilateral? ‘

Circle your answer.
[1 mark]

1 SO

Foi S@uwns ‘

Turn over for the next question |

Turn over »
8300/2F
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15 (a)

15 (b)

Do not write
1 0 outside the
box

Han is trying to work out the size of angle x.

D
Not drawn
accurately
%50 -\tS
A B C
He assumes that ABC is a straight line.
What answer shouid he get?
[2 marks]

-

Ancicy on STROWLHT anE/ \vxo -8 =48

Ao To WO so.

150 ~LO —6S = 5 e X

Answer _7'7‘ S ) degrees

In fact, angle ABC is 178°, as shown.

D
Not drawn
accurately
B
A \uzg/ ¢
What effect does this have on the size of angle x?
5 7. [1 mark]
1%50 - 4L O ¢
N ‘_Dl) Forl T )
= ‘;_ <

5o X nss pecacwsed my  2°

8300/2F
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| 16 The speed of the International Space Station is 27 576 kilometres per hour.
|

16 (a) The station travels 42 600 kilometres in one orbit.

Work out the number of full orbits the station does in one day.

[3 marks]

| __S__JT*_ Sz 272%Fb k! |
D- 42600 | |

TAVALY 2F ST e W vy o So w2l Mwm‘

W oteavely LFSFex2bG = 661 K24
CRRyTs = Lb1%2Y4 %+ L2100 = 1SSy o

Answer \S FULL ok TS

| 16 (b) Convert 27 576 kilometres per hour into metres per second.
‘ [3 marks]

M 1006 = 2FSTE OO0 i ey eme el

‘ Sw ?—:FS;ECDGO +~ Lo = Lt Sc‘f(}@&,\ IR ool M

J. 4 Sacoo FE0 = FbbO e i ot ..AN.__‘.

Answer N;L b E’ O m/s |

Turn over for the next question

Turn over »
8300/2F
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17 Here is a shape.

A method to estimate the area of the shape is shown below.

Put the shape onto a rectangular grid of dots.
Write the number of dots in the shape as a fraction of the total number of dots.

Work out this fraction of the area of the rectangle.

6 cm

7.5 cm

lb DovTs INSHIDE

ToTaL POT S 20

8300/2F



17 (b)

Do not write
13 outside the
box

Use this method to estimate the area of the shape.
[3 marks] |

6 N SF Te" e 20 puTe

= b L F .4
PR 1o 5

L o, 45 = 36

e

5 .
Answer 3 é) : cm?

BTAL BRCA = TS Xb

;-Lis

How could you improve this method to give a more reliable answer?
[1 mark]

INeRERS e Mg - DOTS ‘

Turn over for the next question |

Turn over »
8300/2F
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The graph shows a shop’s daily profit over two weeks.

Key:
. Daily Profit Week 1 — = = ==~
EEESASEENENNEEERNNSENNEESEERERERANS
1] T Week 2
200+ , H
1s0 L E T
T AN |
160N
. S S a S g '
Profit, (£) T *\\ 1 T
140 S CEERWE ! ]
e e
o
1 S S
100 .__. | [t | | - '
Mon (Tue )Wed Thu Fri Sat
18 (a) Circle the profit on Tuesday of week 2
JE—— [1 mark]
£140 £163 £166 Coe172 ) £178
"

11
Ko

Scaws own ‘3»@:{,\5 s 1 squan

The total profit on Mondays for the two weeks was £260

18 (b)
Which day had the highest total profit for the two weeks?

— [2 marks]
Tucy = VFZy WMo = 312 Fa)=lyo+ 200

Wen = 2o 130 = 15vo T 240
TMur. = 124 + Vb2 =286 Sat =132+ V&0
- 352

Answer S A TUWLY AY
£ zc2

8300/2F



| 18(c)

18 (d)

15

The manager decides to close the shop on one day each week.

Use the graph to decide which day she should close.
Give a reason for your answer.

[2 marks]
|

Answer ST,

Reason 1T HAS TS Lowstt TeThRL PRUE |
|
|
|

Ruby says about the graph,

“Friday week 1 is 6 large squares high. I
Friday week 2 is 3 large squares high.
So, the profit on Friday week 1 is double Friday week 2"
Is she correct? |
Give a reason for your answer. ,
[2 marks] |
TREJBLIS 10 BAUUEN A D DOR T
LD Sy =it ZO/HO/(‘;OHN &‘D'

Turn over for the next question

Turn over »
8300/2F
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— S R — - = = = S
The perimeter of kite ABCD is 24 cm
Not drawn ‘
A accurately
3 3cm ‘
D B ‘
A Ju-1-1= 1k |
C
g 22 =19 |
The length of side ABis 3 cm |
Work out the length of side CD.
Circle your answer. ‘
[1 mark]
3cm 8 cm - 9cm | 21 cm |
T 5 4 2 S 'R h
Kris is simplifying 3n°x 2n = L x x noX
His answer is 5n°° - [) - N S+u
Identify any mistakes he has made. Q
oy {> ™ [2 marks] ‘

He wmad Bo0ES 3 Aam> 2 isitems o |

""\\AU\"\\’L\/\M@"' |

ADD ™S T oo™ C[ND\C.& &) ‘

e ey mweTieudd S ano boinsTewn oF

8300/2F
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21 Volume of a sphere = %nr

A steel sphere, radius 9 cm, is shown.

21 (a) Work out the volume of the sphere.

\ 3 ,
D oemx 7= ko
32 3
Answer 01 T2 e 205342
ove. 103k
L',
21(b)  The density of the steel is 7.8 grams/cm® D - v L

Work out the mass of the sphere.

D= ¥8 V- Zps il
M= DxV = Feog oy Do

Answer = 23 %1 & -3

Turn over for the next question

Do not write
oulside the
box

[2 marks]

Y4 F 2

i
by

[2 marks] |

grams ‘

Turn over »
8300/2F
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|
s _
22 Dev invests £1500 for 2 years. v H e -6
The compound interest rate is 1.6% per year. 160
\e0 b
| 22 (a) Which calculation works out the total value after 2 years?
Circle your answer. 3o \SoOo x|-0lb xloolb
z
= \TO0 x | 61b [1 mark]
£1500 x 1.6 x 2 £1500 x 1.67
£1500 x 1.016 x 2 /" £1500 x 1.016°
I'\ i

22 (b) Emma invests £1500 for 2 years.

The interest rate is _ o0+ — &
. ML ER = ! b= 100
1.8% for the first year oo

1.3% for the second year. = \(QD-H'Z = |0\

\
Whose investment is worth more after 2 years?

You must show your working.
[4 marks]

Ermman: (So00x\:01& =\S24
1523 x \ho12 =154t 95 (24¢)

Do: 1500« |~0WbL? =Sy 38 (24,)

Answer :Dt\llS VS et MorE

8300/2F



(1

I

23 (a)

23 (b)

24

Do not write
* outside the
- box
S U .

Expand and simplify (x +5)(x-4)
g Qg'_c)‘ [2 marks] ‘
OlxoC + s x(~u) + 5 x>t +Sx(~L|) ‘
= oLt =l —\-_S)L 20
Answer 20
Solve x—8)x+7)= ‘
[1 mark]
oC = — F |
Answer % ' :}‘
Write 225 as the product of its prime factors. ‘
/ \ 2 92 g [2 marks] ‘
5 48 oM 7N\
/ N\ IR N
5 9 SN/ \
N 3 5 3 |
IS¢

Answer 225= T xS~ SxS

Turn over »
8300/2F
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20

The angles in triangle A are inthe ratio 1:2:3

The angles in triangle Bare intheratio 4:5:6

Not drawn
accurately
A B
Jack says,
“The middle number in each ratio is one third of the total,
so one of the angles in each triangle is 60 degrees”
Is he correct?
Show working to support your answer.
[2 marks]
1 . . ’
Fen e \ 27 1 - D = é; pPHYLTS
e’ +— b = 3Jo°
Se amNpLy o A e % 1 x 30 =20
2<% = bO
T =30 = Qo
= Rotboo ao
For 4 1 L S o« t moo - 1S PeraTy
[~
|0 =% IS = V2
[
So- BRe\WYy pE P b2 = G
Sx \2 Lo

G Xx 2= 72"
LET 6O T F2

Co MiDow Awmee 1o Bert 1S O

i

8300/2F



21 pobiyg
= —_— = - box
| —

26 Here is the graph of a straight line.
& |
1 3 1
GAONE A ST i i ‘
: o A A ~
= o T S CGRADIRWT S e
- (T T - ) CAmni-€
Vj lN T 'u? 7 —
I o
2 T - - ANy -(
B! o \CRIINEY
1 JIE ! 1 T INTL ) ‘) '
]. —t _..._l_ T- ‘L__!. _I__ i I
2 3 4 x
SINTMC Ty TH
OF NEW Lne
26 (a) Work out the equation of the line. .
[2 marks]
S (wrem s cved Jaa
A
2
2
Answer
|
26 (b) Work out the coordinates of the y-intercept of the line that
is parallel to the line in part (a)
and passes through (4, 1)
[2 marks]
}
Ll \) s A Bolow (4,5), SO TS
o wmroncert Pt b b s (6,1) s (5-1)

Answer ( & , l )

Turn over for the next question

Turn over »
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22

A charity collection was made.

Information about the amounts given by men is shown in the table.

Amount, x (£) Midpoint Number of men
|

‘ - — — —_— 1 —

0<x<5 = x‘ 11 2.5

H

-. 5<x<10 71.-C x 7 52 5

‘ 10<x<15 \2°5 x" 2 -+2 &%

Total = 20 \p S

The mean amount given by women was £6.30 per person.

Compare the mean amounts given by men and women.

[4 marks]

Mean Eo mivw = 105 4+ 70 :£€~Z§

(A)ONV\ S FANT WA OV

END OF QUESTIONS
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